EARAROBEEIERT — 2 N— IBISH —F

2012%F4H220 (B) SEI=#R2H

Il S REE4/mE -7 (GRS BIE | txm) 0w | lEmml - [0 aron 8
[A&4£] 1 7 12,000,000 § 2 7% :4,800,000  ~ 3 3 :3,000,000 4 3% :1,800,000 5 & :1,200,000 M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= . IR+ :36. —11-4- . - SRR (|R)
TNSAHLH— o4 és;o 3(3_6)2 12-11-4-3 | 13.6 1 :1350) EEE:{
Rv—~NFAHY>TF— BYv—A~NFIY—3> AR
/29 (1. OF A2 :36. -1-1- . — EEEA (EXR)
SN 2N Y I 59.0 ?73?:)2 L s tg? ZHReohE
L:JF2704— B:=d/a%F KRS
SN . —0_0_ — BRA (ER)
@HTEL Ry T i 6 a7 3.(3263.5 2-2-2-2 | 13.7 11 <4+728) s
L:FUE by TO-F B:RARXETLD REHKIS
@7 ) FLNRAA # 5 gE/IOFi 3:(316).7 6-5-4-3 [13.7| — | 7 | 474 .%FE?%E ()
LTUHARIL R B XA — hFL—t 0 1S ks
. os HORRIGE :37. -8-7- . — #HINE (ER)
Ly B S 6 e 3(337)2 9-8-7-6 | 13.7 5 ?8;1 e
RTIRATFIRIN B:F>T—F/ =Tl * 27— Rikis
o — o S S : —5-3— = — i
774 K14 ZXNn— b [B] # 8 gé?lf)% 3(.13/72.>3 5535 |13.7 12 (ilg) g%;g: (i)
x> AT TR BiA-—NELI—X = re)
- . P . 010~ _ REEE (ER)
FRTATFL oY i 5 oe 3(.13/72.>4 10-9-10-9 | 13.7 2 f+248) ﬁﬁ‘ﬁu—
X TAANAN BINELY 1 J=HrTy—L
e A& : 57— — BFA (EX)
@Y v FavL K 6 o 3.(337).9 6-5-7-8 | 13.7 8 (4;2) i}i;:%
R:x>J7A0-UF7R B:FIX/T4—FZ EaR BE
s g N . EHED :38. -3-4- . — AE—R (ER)
ol7li| vons1es 6 ot 3(328)2 3-3-4-7 | 13.8 10 gt) e
RAFrE—HI—I K BHFov—Fq— Ealzebre
ST # 8 | HB 3:38.4 8-9-10-10 | 13.8 | — 13 | 492 |itAiME (RR)
10/5| 8 =T T=> 159.0 (1 1/4) (+4) THE
R:2&—F47aAV-> B:vY/INE— =7 UHE
— DS s o4 | EIRPAHE 3:38.6 11-11-12-12| 13.8 | — 9 46 | AHEEBR (BER)
17|12 TTTLTAD > 0 a1 o | MEEE
RFAILANTA— BFAILIT—L RS
o R i . _1a_13- — AT (ER)
12 NERETTCEE I #H 5 CEEs 3.(379).8 14-13-13-13| 13.9 4 fzz) e
RV by THY B/ ROg H— PNCER R 6
. HiEA 140, -3-9- . — HAERMR (BX
1 4| @TFF 25— o7 N 3(430)3 3-3-9-11 | 13.9 6 (4_622) e
R:2FA4Ad—I K B:Fa—-oF4T3— =i e
8 7 o7 | SHER 3:42.2 13-14-14-14| 14.0 | — 14 424 | 1EEEERE (EF)
1457 | ¥y ¥ =71~ 60.0 1% Ca |HET
RbIHATAH— BRuF—Fv—L EH =HB
@ 21 L
£y 51.8-38.2
ngraAq L
® I—F—@EBIERL
|S=7r= 14,3(4,11)5(2,1)8,9,13,12,10=7,6
23—+ — 14,3-(4,11) (2,1,5)9(8,13) (12,10)-6,7
== 14,3-5(11,1,10) (2,9)=4-(8,13)-12-6=7
41—F— 14,3-(1,10)5-9,11,2=13,8-4,12-6=7
[ RN
-y 10 210M | | 71 K 10-14 340/ | | B E 6-8 170 | | 3] | 3-10-14 20,100/
# B 10 130M 3-10 3,690 B E 10-14 830M EE 10-14-3 50,250/
14 180M 3-14 6,670 B H 10-14 960M
3 1,430

ABICOVWTRDTEEERROODE. TR LIV,




